C12 - 3.4 - Graph Factored Form WS

Find the leading term, and graph. Sketch a graph and label x and y intercepts.

fO) =+ Dx—-2)(x+2)

fO) == =1D(x+2)(x-3)
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fO)=x-1*2-x)
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f)=x=-2)(x—-Dx+4)

y=alxt#H)xt#)(xt#)..

fO) = (x+2)*(x—2)
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f)=-(x+2*1-x)
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C12 - 3.4 - Graph Factored Form WS y=a(xt#)xtHxLtH)..

Find the leading term, and graph. Sketch a graph and label x and y intercepts.

f)=—-(x+Dx—-2)(x+2) flx)=—(x+Dx—1)(x+4)
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Cl12-3.4-x —int,y — int to Factored form WS

Find Equation in factored form, find the leading term, and graph.

x—int =13
y —int =3 y=alx+®H)*Fx +H (x £ ¥ ...

x—int=-—4,-2,1
y—int =4
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x—int=-111 x —int = —2,1,3 X —int = —2,—2,2 x —int = _2’_2’_2

y—int=1 y—int=6 y—int =—8 y —int =4
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